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AIAFTONIZMA XTH OYXIKH
B"TYMNALIOY
ANANTHYEIY
©EMA 1°
A. 1y, 2-ot, 3-€,4-B,5-a,6-C,7-6
B. OepeNidn: phkos, pala, xpovos.

MNapdywya: epPadov, dykos, nukvotnta, taxutnta

©EMA 2°

A. Bewpia oel. 26 kal 28

B. Bewpia oel. 26 kai 27

©EMA 3°

A. 1-y, 2-a, 3-B

B. pnkos: dm, cm, mm, km
pada: g

xpovos: h, min

GEMA 4°
A. a) 85¢cm = 0,85m 8) 2,1m=2100mm
B) 17dm=1,7m €) 1,3m=130cm
y) 1550mm=1,55m ot) 11,3m=113dm
B. a) 950g=0,95kg 8) 2,9m?=29000cm?
B) 1800sec=0,5h €) 5dm>=5L
y) 1day=86400sec ot) 6600cm>=6,6dm?
©EMA 5°
A. Bewpia oeh. 16 kar 17
B. p=T_50 _ 550049
V 0.02 m
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©OEMA 6°

A. X,=—5mM, Xg=—3m, Xc=1m, Xp=3m, X;=7m
B. Ax= x; —xc = 7m—(+1m) = 6m
©EMA 7°
A. o=m_ 05 —250Kg
VvV 0,002
B. _m_00 455 9
V2000 cm
©OEMA 8°
i) X,0=45m

i) Ax=x,;— x3=80m-10m=70m
i) At=t,s— t,o=145-55=9s

iV)  X50=100m

V) Ax=Xyp— X,=100m-0m=100m

OEMA 9°
vV 0,005
V=m=ﬂ_ooo7m q 7L
P 00
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